Friday 15th September

Partition numbers to 100.

Make Count

Part-Whole Model

Complete

I 64
5
III II- “

(8
(&)

There are 6 tens.

There are 4 ones.

There are  tens.

There are ones.

There are ___ tens.

There are ones.
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There are tens.

There are ones.

We have been learning how to partition a
number using the part-whole model.

Have a go at the examples above.

Can you make your own part-whole model
questions? Leave out a part or don't write
the whole. Test them out on your grown

ups!




